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In an experiment, 4 and B are events with probabilities P[4]=1/8 and P[B]=3/8.

Suppose 4 and B are disjoint. Find P[AUB] and P[4U B°]. (10 %)

ev? v= 1,2,3.4,

2. ThePMFof V is P,(v)= i
0 . otherwise.

Find the value of the constant ¢ and the CDF of V. (20 %)

x2

3. ThePDFof X is f,(x)=124
0  otherwise.

-2<x<4,

If Y=X7, findthe PDF f,(y). (20 %)
Y

cx 0<x<2, -2<y<2,

4. Random variables X and Y have joint PDF f r (%)= i
' 0 otherwise.

Find the constant ¢ and the probability P[X?+Y?2 <4]. (25 %)

8xy 0<y<x<l,

5. Random variables X and Y have joint PDF f r (XY= .
’ 0 otherwise.

Find the covariance of X and Y. (25 %)



